WARNUNG

ACHTUNG:

diese Bausétze sind keine Anfangerprojekte! Die Spannungen in einem Rdéhrenverstarker
kénnen 500V und mehr betragen und sind somit bei unsachgeméafRer Handhabung absolut
lebensbedrohlich!!!

Wir liefern lediglich eine komplette Zusammenstellung der bendétigten Bauteile,

Schaltplane, Layoutplan sowie eine Aufbaubeschreibung.

Fur die Funktion der vom Kunden aufgebauten Gerate Gibernehmen wir keine Gewahr (fur
die Bauteile selbst nattirlich schon). Sollte der Aufbau zu unerwarteten Schwierigkeiten
fuhren, so kann die UK-electronic den Bausatz im Kundenauftrag fertig aufbauen oder ggf.
andere Service-Techniker vermitteln.

Fragen zu den Bausatzen werden wir nach Méglichkeit im Forum beantworten.

WARNING

ATTENTION:

Please note that the Amp-Kit are not a beginners project but for experienced amp builders!
Voltages inside tube amplifiers can exceed 500V and can cause serious damage and can
even kill!

We only supply a complete compilation of excellent parts, schematics, external

wiring plans and a description of building. UK-electronic does not offer a general

support for you DIY project.

We do not warranty for what you build out of the supplied components. If you get stuck with
your DIY project then UK-electronic might offer to finish assembly of your kit based on
your service-order or refer you to a skilled technician. Questions and answers about the
AMP-KITS will get collected and published at the Forum at www.uk-electronic.de

UK-electronic, Germany 2019 www.uk-electronic.de



SO0OUNDDESIGM

2y

ra
L

Processing suggestion Miniamp PCL86

www.uk-electronic.de

1. unpack materials and check for completeness.

2. start with the assembly of the printed circuit board: first resistors (2W, 0.6W), capacitors, electrolytic
capacitors (observe polarity of the power supply unit capacitors), tube sockets and solder pins.

3. prepare the housing if no pre-drilled one is used.

4. Insert the insulating plate into the cover, push 4 screws M3x20 through. Fit the 4 distance rollers M3x3
onto the screws. Then hand-tighten the board with the nuts M3.

Press the two grommets into the holes.

6. wire mains transformer (top 12V AC bottom 1230V output), example: 12AC blue, 230V black/red

Fasten the mains transformer and output transformer with the 4 self-tapping screws.

8. screw potentiometer, input socket, speaker out socket, external power supply socket, LED socket and
switch to the housing. If faceplates are used, they should be placed underneath.

Wire the components according to the wiring diagram (see also illustration).

10) The heating cables in the example green and 230V (black/red) should be twisted.

11. the not needed cables at the output transformer primary side (brown) and secondary side (red) can be cut
off. The orange one (1W outlet) is laid as a reserve in the inner one. Since both sides contain a black
connection wire, it is recommended to connect either the secondary side first and then the primary side, or to
mark the respective black connection wire.

The previously soldered connections from the sockets, potentiometers etc. are then soldered only to the
solder pins on the printed circuit board. The two 230V connections should be covered with the enclosed
insulating tube.

Then you can plug in the tube when the housing is open and if you are not sure you can measure the voltages
given in the circuit diagram. Otherwise the assembly is finished.

Additional Information

Tests have shown that with weak single coil Rickups too little voltage is generated to produce a certain
crunch. With humbuckers or active pickups the whole thing looks quite different. ]

In the REV1.2 the necessary booster is now on the PCB. The booster is fixed with a gain of about 10dB. If
you want to change this you have to reduce the resistance 330R (more gain) or increase it (less gain).

©2019 uk-electronic



PR RRPRPRP R PR RPRRPRPEADMDMNRRPRRERRPRPREPREPRERRENDR

WRPRPRPRRPRPRPREPNNNRPRRPRPREPRPRPREPREPREREN

1
2019© uk-electronic

Manual 1W Tube Amp PCL86
Bill of material miniamp PCL86
PCB ,,Miniamp PCL86*
Audio jack Ampstyle EBM_63MS
DC-jack NEBJ21C -TW
Tube socket pcbh SK09 + Tube PCL86
PT 9,9V DC/ 230V —Chassis mounting
OT 100V Line OT 4W EI/42 — Chassis mounting
LED 5mm red Low Current
Rectifier B380/C1500
Rectifier DIL B80Cxxx
LED bezel 5mm Black
Grommet 6mm
Grommet 4mm
Distance rolls M3 x 3mm
Screws M3 x 20 + 4 nut
Self adhesive Feet 12x12x4mm
Solder nails 1mm
Some colored wire 0.25mm?2
Isolating sleeve
Potentiometer 1IM-A
Potentiometer 500K-A
Toggle Switch KNX-1

Voltage regulator 78L09

Mosfet 2N7000

Diode 1N4148

Ceramic cap 100p-1000V (101)

MKT 100nF (0.1pF - 104) + 2x KDPU 100nF (104)
MKP2 4,7nF (0.0047uF)

MKP2 10nF (0.01pF)

Elektrolytic Radial 47puF — 350V (lay down)
Elektrolytic Radial 22uF/25V

Elektrolytic Radial 10uF/25V

Elektrolytic Axial 100uF - 16....25V
Elektrolytic Axial 220uF - 10....25V
Elektrolytic Radial 1000uF/16V

"Resistor 1R (brown/black/black/gold/brown)
'Resistor 8R2/ 2W (gray/red/gold/gold)

'Resistor 150R/ 2W (brown/green/brown/gold)
"Resistor 330R (orange/orange/black/black/brown)
"Resistor 2K2/ 2W (red/red/red/gold)

"Resistor 56K/2W (green/blue/orange/gold)
'Resistor 1K (brown/black/black/brown/brown)
"Resistor 1K5 (brown/green/black/brown/brown)
"Resistor 5K1 (green/brown/black/brown/brown)
"Resistor 10K (brown/black/black/red/brown)
'Resistor 51K (green/brown/black/red/brown)
"Resistor 82K (grey/red/black/red/brown)
"Resistor 100K (brown/black/black/orange/brown)
'Resistor 680K (blue/gray/black/orange/brown)
'Resistor 1M (brown/black/black/yellow/Braun)
'Resistor 10M (brown/black/black/green/brown)



First, all components are soldered using the figure shown here. The connecting wires on the underside
should be kept as short as possible. The solder nails are simply pressed into the corresponding holes with flat
pliers. After assembly, insert the four 3x20mm screws through the cover, insert the insulation board, screw
the four 3mm spacer rollers over it and then hand-tighten the PCB with the nuts. (The isopaper can also be
used as a drilling template).

Y

+
47/350
1Amp_

in1

+OHlO
47/350
bCL8E M

238U A

108
Ol 22221 10
@ bofzeado §
\ g

2019© uk-electronic



Then you should equip the enclosure, grommets, potentiometers, input and output jacks, LED sockets (with
LED, push in the plug correctly so that the LED has no play), DC jack and the switch.

Bl

i |': |'| il f :il i

| 1 UM R Ry

i / |

2019© uk-electronic



Bring the connections from the mains transformer through the grommet and secure them above with a cable
tie. The same for the output transformer. (Attention! Mark a black wire as described above for safety).

At the switch and at one pole of the DC socket there are 2 wires each. Please do not solder too long on the
switch, otherwise it is broken!

Last but not least, make the corresponding connections from the sockets and potentiometers to the printed
circuit board. The cathode of the LED (short leg) is simply soldered to the ground point of the potentiometer.
The construction is finished and nothing should stand in the way of fun.

Technical changes reserved!

2019© uk-electronic



)

[ 1]

S1

EI48-1

il
=

32V B In

OT Red
oT Black

OT Red 15 Ohm

OT Blue

7’

47/350

€

47/350

+

iniAmp

PCL86 M

©

Pouwer

OFF

ON

Indicator




14 | £ | c | T
T/7T =3994S - .
BEILGET B6TBICOST $8710d dwy M7 HSH H - |
CTT A9y dwetury 6182(2) TE[ T 7 5
' ] T
Se) -zab SP"DIUO0U}DSTI-YN" MMM b 1IN0 NI .SM »O\mm 2 _
Z79
aN9 S| |She+ 6076 zdl
Pay . 1T £yl b ZH UT/0YNTT "1x3
-
% (BGZ/89
SR mmm\m&- 0SE/ Lb Bla—ts e
nem gz2'1 °‘eo m M - Pt
ZUNT/NT'@=N 199 S5 g =en " 79 e
== - » T aTd 5
ngs' 1 —C3 — *
MZ/M9G | MZ/ZaZ 90GTI08€Eq R g4
L=
- swmae NP6T unG'+- NBEZ/NB‘6 OT, v H-
@syong J49p ue 191019b 1ye41p |9y a 18
@1/02Z MZ/@ST < aT/00T s 2 .
13 2 =
T : e
. = -
ZoEeY S m 2 ¢ NITS _I_
~
m_ wo| |2 OND Aﬂ\/
? =1 | s
Mz/zag pP€18 3 554 o @ 31
a8 o (Wl P v g3 |9 Sl ano
T | %8 = 7 < ~—5 10
— N &5 = 98712d N ul
5 Z nteT  uin [*i1d g < 3| »ueer
X Py T L > 8FPTPNT | BU =
THL A2elg MZ/A9S oz I
ZddW=62/+2 @0 _ L.
WU0ST-8-0/ My-MZ-MT-@ L0 L e
g © O m
~ -_““+T/
%
% D
=N
Ne+
¥ £ Z T




3mm

I
DC-Jack 12mm Speaker out 12mm

Booth drills 19mm from upper
+
3mm
6mm 22mm 8mm

+ + +

3mm

3mm






	Template Miniamp PCL86.pdf
	Seite 1


